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B.Com. (Third Year) Examination, 2017
BANKING AND BUSINESS ECONOMICS

(Business Mathematics)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(@vs-31)
Answer all questions (50 words each).
All questions carry equal marks.
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PART-B [Marks : 50]
(Eve-¥)
“Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.
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PART-C [Marks : 30]
(Tve-9)
Answer any two questions (300 words each).
All questions carry equal marks.
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PART-A
(@us-31)
UNIT-I
- G-I
1. (@)  Evalvate:
M AT 2
[ 3-2x-x*)dx.
@) Find the derivative of the function :
= wem # eEwed WM I :
y = 43 ~ x4, |
UNIT-II
(SFTE-1D)
i) I (3R)

S R T

Find (¥ HIS0) :
2A-3B+1
(iv) Define square matrix.
i Afern = oftewfy wif@
UNIT-1II
(FHE-11D)
(v)  Define Basic solution.
aumsE ufom w wRefm s
(vij What do you mean by term linear programming ?

o Wiffm 9 oMo W oaeE ®2
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UNIT-1V
(FHE-1V)
(vii) Define Duality.
taa w1 wRefE SR
(viii) Write the names of methods of solving a LPP.
LPP # '@ & & fafml & m fafew
UNIT-V '
| (FFTE-V)
(ix) Find the amount of annuity of Rs. 5,000 payable at
the each year for 7 years if money is worth 10% per
annum compounded annually ? /

g R I@ AT S fEd 5000 Fo, 10%
wwadl TS B W W 7 g4 ® fow gwE s

(x) How many years it will take for money to be double
- when interest is compounded annually at 5% ?

fret TRt @ 5% W W ¥ T R H e

qqg w2
PART-B
(Eve-9)
UNIT-I
» GFE-1)
2. If (3R)
_ 1=x
" Vi+x
Prove that :
fas =i :

(l—x)Z% +y=0,
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3. The total cost of a plantis given by
c(x) = 0.0005x% - 0.02x% — 30x + 3,000

where c(x) is the total cost associated with the total
output x. Determine the average and marginal cost of the
production.

| TF W= H AE Ged e w9 ¥ R o ®
¢(x) = 0.0005%° - 0.02x% — 30x + 3,000

W& c(x) SER x ¥ Gafd W@ oW B SaR
o= @ g ofed e W MO Wi

UNIT-II

(FFE-10)
4.  Solve the following system of linear equations by matrix,
i sl @ Afe @t wemw ¥ o'W s
22X +4Y-7Z=9
3X+Y+2Z2=7
X+3Y-3Z=4

5. If (3R)

A= . - ’ B = a‘ ;
2 -1 b -1
and (99m) (A+B)2=A2+B2.
Find ¢ and b. (Y@ ST g T b)I
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——— UNIT-III

| (FFT-111)
6.  Solve graphically :
EHT BN TA FINC

Maximize z = 5x; + 3x,

Ffrwam SifSg

Subject to 3x, +5x,< 15

wafs e 8 Sx,+2x,< 10
X, 4,>0

7..  Solve graphically :
@ g0 ' ®itg

Minimize z = 1.5x; + 2.5x,
A HIfST
Subject to X, + 3,23
wafs R g x + x,22
X, x>0
UNIT-1V
(FFE-IV)

8.  Solve the following LPP by converting it into its dual.

frafafan Yow s gren = faa § wRafi s
T ' HifwC

Minimize Z = 2X, + 5X,

=T i -

Subject to Xi+X;22

wafe e & 2X, +X,+6X,<6

' X, X, X320
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9.  Solve the following transportation problem :

f= ofee gven w1 '@ FiNg:

Ware House Store Supply
A B C D
W, 9 12 9 6 7
W, 7 3 7 7 6
W, 6 519 11 19
Requirement | 6 6 P
UNIT-V
(FFE-V)

10. A man borrows Rs. 15,000 from bank at 10% compound

' interest. At the end of the every year he pays Rs. 5,000 at
part repayment of loan and interest. How much does he
still owe to bank after five such installments.

TF =R 15000 T 10% THSS A W R G I
W JYR A1 T A€ TR 99 ® IFd H 5000 T
T iR = ® T A T wEm 2 e feva s
FEA ® IWS fwmam W YW w®m2

11. Rs. 10,000 is invested at the end of every month in an
account paying interest 8% per year compounded monthly.
What is the amount of annuity after 4th payment ?

8% ¥ ad =madt = W W ¥ 10000 T W
e ® o W WA fru oW ¥ 4 frwd @ IR fRe
T o9 W@ ?
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12.

13.

14.

PART-C
(Tuz-v) .
UNIT-I
@D
Find the maximum and minimum of the function :
Pod ® AfUHaH T A WA FW RN
X =54 +5° - 1.

UNIT-II

- (FE-1D
Solve the following system of equations by using matrix
inverse method. ’

e o w A whem fafs 9 @ iR
-4X +3Y+Z=10
5X + 2Y - 7Z = 24
2X - 3Y + 5Z =22

UNIT-III
(FE-11D)
Solve graphically :
WHT 3W A I
Maximize e = 50x; + 30x,
sifuwan FIST
Subject to 2, +x,> 18
afE e ® 3x; +2x,< 34
X +x,>12
— —— N2 U
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UNIT-1V

(FFTE-1V)

15. Solve the following linear programming :

ﬁﬂﬁw@ammmaﬁmw

Maximize z = 2x + 3x, + 5x,
Afham Hifg
Subject to X +x+tx<’]

s R R x4 25, < 13
X, Xy X320

UNIT-V

(FFE-V)

16. Sohan plans a foreign tour after 5 years. He expects the
cost of his tour to be Rs. 7,00,000. How much should he
save at the end of each year for 5 years to accumulate this
amount, if money is worth 7% compounded annually ?

e ¥ ue od uwem RRw e w1 A owE f)
SHE! IER F AR AN F F{A @@ 7,00,000 T
B AR w F 7% W W ¥ ww g e T @
FT 5 T TF TEE A B o F S R w
T FE HIfET ?
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